


-ידי לע םכוס
יול יאורלא

14/1/24

: x3x Ear yed willed : "M and 3 wide

: /3X)

.

m: 1fg'd (X , Y)
:X yea cafn y = mx + b :& xd

Y
&

y = 5X + 2

118m = 5 816' > o In >
.Y 73

b = 2.

> X

3 y <13 o YMM hi b Gidd

Ex chil (DNX = 0 : (3) a(x ,
X = 0

, y(3a6)'Xmxay)xC
. Y 23 ofM NY Ne

2 Jiga (vi) (x & paxil m Gidd

y = 5x
+ 2

y = 5 = M46 yay = 616 -

% =x(33)

Y
&

010 m
= 199

·

(x ,y) y - Y1
m =

· (X - X1)
X - X1

·

(X1 , Ye)

m(X - Xn) = y
-

Ye
I 2 X

y - y1 = m(X - X1)

Esteg a X, y :/ +3) 175
.
M

, ye ,
X1 53) ,

iS Glad
."It



-ידי לע םכוס
יול יאורלא

: ike

2782 /@d id .
(2

, 5) : My ex (x162
,
M = 7 : 181614 < /x)

y -

ye = m(X
- X1)

y
- 5 = 7(X - 2)

y
- 5 = 7X - 14

y = 7x - 9

:x601 Nice

> x NIldd . (-3 ,
9) :MA ye* +81 ,

m = - 8 : 161649 24 /

y -

ye = m(X
- X1)

y
- q =8(X - ( -3))

y
- q = 8X - 24

y =- 8X - 15

Esteg



-ידי לע םכוס
יול יאורלא

Y
: /isN

y
= X

y = x= (10) 22xyci3
·

12 , 4) 2 Y Ind
,
X = 2 : < &K

· ygX <S3) X 136 . x

> X

·
X = 2 : 74/7/2331 736 / > &1 .

3

: idid'n ind , Non Rat yad aladd X = 2.+ , 3

?
' &NI Milled &A

( . Y(x = 2)
= 22 = y = (2 , 4)

x . y = X

y = 2X

T

y(x = 2) = 2 . 2 = 4

2
.

dam = y = y'(x = 2 :28 -6080 Na4)xx233796wnpax6169
↑& /X

in .

y - ye = m(X - Xi)
m = u = 4 g()4164xx j5a

y
- y = y(X - 2)

(2
, 4) : 44&X XXX 15 &

y - y = 4x
- 8

y = uX - Y

Esteg



-ידי לע םכוס
יול יאורלא

·x01) in

y
=
- X + 5x + 7 : x3p))x()(X)

·

m = -3 : wi Y'all didle is vision Eyf Kalys 1234

&N Ne Ad . x

1

y
=- x + 5x + 7

y = - 2x +5

1914x 010' =xS2)
V

- 3 = - 2X + 5

X = 4 > Y(x = y = - 42 + 5. y + 7 = 11 = (4
, 11)

D .

116% m = - 3 y - ye = m(X
- Xe)

(4 , 11) y
- 11 = -

3)X - 4)

y - 11 = 3X + 12

y
=

- 3X + 23

- 28 Xa & Goa 6345 4) 21145 ,
Exe

, Ye) : Maxsl m Jig's & ca1

14 · IX O> NX N&&

< y =
- 3 + 23

(4
,
11)

*

m
=

- 3

Esteg



-ידי לע םכוס
יול יאורלא

: in&

f(x = - xz + 6ax - 2 : x
:

3y)(8)(/(x)

a x)1136 . 2 /1
,
X = -3 : 2) Kaya yax Eat New 610d

·
a N13/2015 y wind Add a

K
.

f(x) =

- x + 6aX - 2

f(x) = - 2x + Ga

fi -3) = - 2 . (- 3) + 6 = 2

6 + 6a = 2 =) a =
- 2

D.

f(x) =

- X + 6 . X - 2

f(x) = - Xi + yX - 2

: pan6 of sligton pad

"God -Y 19
,

X 12) In , pff) if Wi-26od MNCING

? X= - 3 :D (3(yX f(x =
- x + ux - 2 :y() &(3) 44/x Ned 2 .

>

2.

f(- 3) = - (-3) + y . 73) - 2 = 1 = (- 3 , 1)

664m = 2

y - ye = m(X - Xe)

y - 1 = 2(X - (3) => y = 2x
+ 7

·

X = -3 : (1) yign3) yea x204 is

Esteg



-ידי לע םכוס
Estegיול יאורלא


